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SERIES COMPLETION

Hllustration 1 : Find the missing term in the series:
3, 20, 63, 144, 275,?

(A) 354 (B) 468 (C) 548 (D) 554
Solution : As discussed above, we may label the given series T and the form
series 11 to IV as shown below:
SeriesI : 3 20 63 144 275
Series IT : 17 43 g1 131
Series III : 26 38 50 Y
Series IV : 12 12

Clearly, 1n series III successive term 1s increased by 12.
So, missing term in series III=50+ 12 = 62:

missing term in serics I =131+ 62— 193;

missing term in series [= 275 | 193 =468.

Thus, the mussing termis 468. Hence, the answer 15 (B).

Directions : The terms given in each ol the following questions [ollow a delinite pattern and
thus make a series. Find (he missing number [rom the series oul of the given allernatives.

Tliustration 2 : 3, 6, 18, 72, (.....)
(4) 144 (B) 216 (C) 288 (D) 360

-

Solution : The patternas X 2, <3, x4,.....

Missing number= 72 x 5= 360.
Hence, the answer is (D)

Hllustration 3 :+121, 225, 361, (......)

(A) 441 (B) 484 (C) 529 D) 729
Solution : The numbers are 11°. 15%, 19%

Missing number —(23)* — 529

Hence. the answer 1s (C)

Illustration 4 : 1,2, 3, 5, 8, (......)

(4)9 (B) 11 (0) 13 D) 15
Solution ; Each term in the series 1s (he sum of the preceding Lwo (erms.

Therelore, the missmg lerm— 5 +8 — 13

Hence, the answer1s (C)
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INMustration 5 -5, 9, 17, 29, 45, (-.....)

(1) 60 {B) 65 (C) 68 (D) 70
Solution : The patternis +4, 8. +12. + 16, . __.

Missing number = 15+20= 65

Hence, the answer s (B)

HHustration 6 - 1, 9,17, 33,49, 73, {(......)

(4) 97 (B) 98 (C) 99 (D) 100
Solution : The pattern1s +8, +8 + 16, +16, +24, ...

Missing number = 73+24 =97.

Ilence, the answer s (A)

INMustration 7 : 1, 6, 13,22, 33 (......)

(4) 44 (B) 45 (C) 46 (D) 47
Solution Thepatternis 15..1 7, | 9.1 Ll e

Missing number — 33 + 13— 406.

Hence, the answer is (C)

Iitustration 8 - 20, 19,17, (......), 10, 5

(A) 12 (B) 13 (C) 14 (D) 15
Solution : Thepatternis-1,-2, ...

Missing number =17 -3= 14

IIence, the answer 1s (C)

Hlustration 9 : 5, 16, 49, 104, (......), 281
(A) 115 (B) 148 (C) 170 (D) 181
Solution : The pattemis | 11,138, /e .........1.e. (11 x1), 1 (11 x3), | (11x5),........

Missing number =104 + (11 » 7) = 181

Hence, the answer1s(D)

Hllustration 10 : 5, 17, 37, 65, (......), 145
(4) 95 (B)97 (C) 99 (D) 101
Solution : The numbers are 22+ 1,42+ 1,62+ 1,82+ 1....... 122+ 1, ...

Missmg number = 102+ 1 =101.

Hencec, the answer 1s (D)

Mliustration 11 : 4, 10, (......), 82, 244, 730
(4) 24 (B) 28 ()77 (D) 218

Solution : Each number 1n the series 1s the preceding number multiplied by 3 and then decreased
by 2. Therefore. missingnumber=10x3-2=30-2=28

Hence. the answer 1s (B)
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Illustration 12 : Identify the number oddman out of the following numbers.
(4) 385 (B) 572 (C)671 (D) 427
Solution : On careful observation of the above numbers. we notice that in all the numbers
except 427, the middle digit 1s the sum of the first and last digits. In 427, this
pattern is not followed. Hence. (D) 427 1s an oddman.

Illustration 13 : Identify the wrong term in the following number series.

20 24 40 76 150 240

(4) 20 (B) 40 (C) 76 (D) 150
Solution : 20+22=20+4=24

24+42=24+16=40

40+6> 40+36 76

76+ 8 =76+ 64=140 £ 150

140 1 102=140 1 100=240

Ilencce, the answer is (D)

Hitustration 14 : Find the wrong term in the series:

26, 34, 41, 46, 56, 68, 80, I 88

(4) 20 (B) 41 (€) 56 (D) 68
Solution : On carefully observing each term of the series_we notice that the sum of digits oz a term

1s added to the same term to get the next term.

26 + (2 + 6) =34

34+ (3+4)=4I

41 +(4+1)=46

46 + (4 + 6) =56

56 1 (516)=67+68

67 + (6 + 7) — 80

80 + (8 +0) = 88

Hence, the answer is (D)

Tllustration 15 : Identify the number which is different from others.
(4) 49 (B) 67 (C) 139 (D) 176
Solution : Sum of digits 1s 13 in all the numbers exceptin 176. Therefore, 176 is the oddman.
Hence, the answer is (D))
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Directions - In the following [ustrations. one number series 1s given. There 1s another
series 1 which a number and (a). (b). (c). (d). (¢) are given below this series. You have
to complete this second series by choosingthe best from the given altematives. This
series will correlate with the first series.

Illustration 16 : 3 9 21 45 93 189
L] (@ (b)) (@ @ (o)
Which number can replace (b) from the following alternatives.
(4) 29 (B) 31 (0) 28 (D) 23

03 189

1

3 9 21

3 15
Solution : | “ T| Tl

243 ®24+3 ®24+3 k243 %213

Q amMme vavs
= LR

st

s 13 [29] &1 125 253

N | N S |

x2+3  x243  x243 x2+3  x2+3

Hence. 29 will replace (b). Therefore Answer (A)

IMustration 17: 17 21.5 360.5 44 02 84.5
21 () (b) (c) (d) (e)
Which number can replace (e) ?
(4) 81 (B) 88.5 (C) 88 (D) 85
17 215 305 44 O gt 845
Solution: | T | Tl “ Tl T
4.5 +0  +13.5 H+18 +22.5
Samcway.
(a) by (© D (o
21 255 WS 18 66 [885]
T N

+ +13.5  +18 =225

. 88.5willreplace (e). Therefore Answer (B)
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Ilustration 16 : 13 14 5 18 0.5 7.5
19  f(a) () (o (d) le)

Which number can replace (e) ?

(4) 27 (B) 6.75 (C) 18.75 (D) 13.75
13 " 5 18 0.5 ]
Selution : | Tl Tl H T T
x1+1 +2-2 x3+3 +4-4 x5+5
Same way,

@ © (© @ (@
19 20 g 27 275 [18.73]
R I

X141 +2-2 x313 +44 x5t5
.. 18.75 willreplace (e). Therefore Answer (C)
Ilusiration 19: 9 10 16 57 212 1085
2 (@ (b (o) (d) (e
Which number can replace (c) ?
(4) 18 (B) 24 (C)15 (D) 23
9 10 16 57 212 1085
Solution : | TI “ “ T' T
A1) x2-2) <3HE) A1) <5HE)
Same way.

(@ () (g (@ ()

L A AL

<H(1) <2+2) x3N@) x4-(4)" <5+

- 15 willreplace (¢). Therefore Answer (C).

CASE-IV : ELEMENTARY IDEA OF PROGRESSIONS ;

(i) Arithmetic Progression (A.P.): The sequence of the forma. a+d.a+2d.a+3d. ... Is
known as anAnthmetic Progression (A.P.), where a1s called first term and d 15 called common
dilTerence.

TorTixample: 3.6.9,.12, ......isanAP.witha=3andd=6-3=3.

Note:Inan AP, wehaventhterm=a+{(n-1)d

(ii) Geametric Progression (G.P.): The sequence of the form a_ar, ar?_ar®, . isknownasa
geometric progression (GP) where a is first term and r is common ratio.

25
:_.:5.
5

IJl

ForExample: 1,5.25,125........isaGP. witha— |l and r=-

et

Note: Ina G2 we haventh term areL,

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

Illustration 20 :In the Series 357, 363, 369, ....... whai will be the 10th term?
(4) 405 (B) 411 (C) 413 (D) 417

Solution : The givenseriesisan A P. in which a=357 and d =6.
- 10thterm —a+(10-1)d—a+9d
=(357+9 x 6)=(357 + 54) =411.
Hence the answer 1s (B).

Hllustration 21 : How many terms are ihere in the series 201, 208, 215, ......., 369, ?
(4) 23 (B) 24 (C) 25 (D) 26
Solution: The given senies 1ISA P inwhicha=20landd=7.

Lect the number of terms be n.
Then, 369 =201 +(n -1) x Tora=23.
ITence, the answer 1s (€).

Ilustration 22 : In the series 7, 14, 28, ....... What will be the 10th term?
(1) 1792 (B) 2456 (C) 3584 (D) 4096
Solution : Clearly. 7 x2=14. 14 x 2=28. ....... and so-ou.

So.the givenseries s a GP. inwhicha=7andr=2.
o, 10th term=ar? Y=a® =7 x 2* = x @] 7= 3584.
Hence. the answer 1s (C).

Hlustration 23 : Find the missing ternt in the given alphabet series :

H, I, K NG
(4) O (B)O (C) R (D) S
: : 1 2 : S
Solution : The pattern1s H LI =5 K—"35N-—"5R
Hllustration 24 : Which term comes next in the series : YEB, WFD, UHG, SKI, ?
(4).00L (B) OGL (C) TOL (D) ONL
Solution : Clearly. we observe the following pattern in the first. second anc third letters of
the given series

Ist letter : Y = > W —2 % LI —2 > Q = @

2nd letter : E = >F

3rd letter : B 2 >D

I'hus. the missing term 1s QOL. Hence, the answer 1s (A).

-~

s +3>K +4>@

+J>G +2‘I

+2
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fllustration 25 : Iind the next term in the alpha-numeric series :

Z1A4, X2D, V6G, T21J, R8SM, P445P, ?

(4) N2676S (B) N2676T (C) T2670N (D) N2670S
Solution : Clearly, the patterns [ollowed by the lelters are as follows :
=5, -2 -2 -2 . ; 22
Ist letters: Z-———X — V — — R —»P = ®

-

+3 -3 +3 +3 +3 +3
2nd letters: A >D > G > ] > M >P >

The series formed by the numeralsi.e. 1,2.6,21.88.445.............follows the

pattern x 1 + 1, x2+2 x3+3 x4+4 x5+5,............
So. numeral in the desired term =445 x 6 + 6 =2676.
Hence, desired term is N2070S.

So. the answeri1s (A)

Hustration 26 @ Find the ferm which does nat fit inia the series given helow.
G41, JIOR, M20I% I"43N, S99L

(4) G417 (B) JIOR (C)M20P (D) PAIN . (E) SYOL
Solution : The pattern followed by the letters are
Istletters : G —=—>) —2 s —25 p *2 44
) - =3 N\
3rd letters: T — R —> P —> N > L,

The number senies 4, 10, 20, 43, 90 skhould fallew the pattern 2+ 1,%2+2, %2

+3,x2+4.
So. 10 1s wrong and must be replacedby 4 x2+ 1)1.e 9

Thus. the term J10R does not fitin the given senies. The correct term1s JOR.

Hence, the answeris (B).

Illustration 28 : a — ba — bb — ab — a.

(A) aaba (B) baab (C) baaa
Solution : The pattern is abbalabbajabba.

Hence. the answer 1s (B).

Illustration 29 : r — sr— tsrrf — rr— sr.

(4) tiss (B) tsts (C) trst
Solution : The pattern 1s rtsrjrtsrirtsrirtsr.

Hence, the answer 15 (C).
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Direction (Q. 1 to 16) : Find the missing term(s) in the following questions :

Q.1

Q.2

Q.6

Q.7

Q8

Q.9

0. 6. 24, 60, 120, 210, ?
(A)290 (B) 240

1, 2, 5, 12, 27, 58, 121, ?
(A) 246 (B) 247

19, 2, 38, 3, 114, 4, 7
(A)228 (B)256

49, 51, 54, 27, 9, 11, 14, ?
(A) 12 (B)15

1, 4,2, 8, 6, 24, 22, 88, 9
(A) 86 (B) 90

600, 180, 54, ?
(A)27 (B) 018

2 9 5 13, 7 3
(A)49 (B) 50

24, 60,920, 210, ?
(A) 300 (B) 336

589654237, 89654237, R965423.
(A) 58965 (B) 65423
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(C) 504

(C) 249

(C) 352

(©)7

(C) 154

(€) 18

(C€) 51

(C) 420

0654239
(C) 89654

(D)336

(D) 248

(D)456

(D)6

(D) 352

(D) 16.2

(D) 52

(D) 525

(D) 96542
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Q.10 20, 20, 19, 16, 17, 13, 14, 11, 2. ?
(A) 10, 10 (B) 10, 11 (C) 13, 14 (D) 13, 16

Qll 21,2 4 4,5,6,7,8 8, 10, 11, ?
(A)9 (B)10 (€)1 (D) 12

Q.12 90, 180, 12, 50, 100, 200, ?, 3, 50, 4, 25, 2, 6, 30, 3
)

(A) 150 (B)175 (C) 225 (D) 250
.02 3 4 5
QB -5 55 25
6 ; 6 o 0 7
A) 575 B) 255 (©) 125 D) 155
Q14 2, 9 28, 7. 1206, 217. 344
(A) 50 (B)65 ()70 (D)82
Q.15 2. 12. 36. 0. 150. 7
(A) 194 (B)210 (C) 252 (D)258
Q.16 3, 10, 29, 66, 127, ?
(A) 164 (B)187 (C) 218 (D)216

Direction (Q.17 to 22) : Find the wrong term in the following questions :
Q.17 6, 13,24, 51498, 201, 408
(A)13 (B)sl1 (C) 201 (D)408

Q.18 2, 3.6, 12, 12, 48,24, 250
(A) 4 (B)6 (C) 48 (D) 250

Q.19 1112, 1314, 1516, 1718, 1921,2122, 2324
(A)1516 (B) 1921 (C)2122 (M) 2324

Q.20 7, 28, 63, 124, 215, 342, 511
(A)7 (B)28 (C) 124 (D) 342
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69, 55, 26, 13, 5
(A)5 (B)13 (C) 26 (D) 55

R0, 78. 86. 80, 85, 82, 83
(A)83 (B) 82 (C) 86 (D) 78

Direction (Q.23 to 20):

Two series are given in which second series follows the pattern of first series.
5 6 11 17 28 45

3 0@ B © @ @

Which number can replace (d) ?

(A) 19 (B)29 ()18 (D) 21

2 10 14 34 62 130

1 @ (b)) © (@ ()

Which number can replace (b) ?

(A)6 (B) 8 (@) 10 (D)7

4 225 325 7125 1825 887N
7 @ (b () (d (e
Whick number can replace (b).2

(A)4.125 (BR.23 (C)6.75 (D)4.75

3 40 176 537 ¢ 1078 1079
L @ O ) D (o)

Whick number.canreplace (e) 7

(A)839 (B) 738 (C) 829 (D)938

In the semtes 10, 17,24 31.38 .. which ol the [ollowmg will be & number of the seres ?
(A)45 (13) 48 (C)574 (D) 1003
Intheseries 3. 9, 15. ............... what will be the 21st term ?

(A) 117 (B 121 (C) 123 (D) 129
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Which term of the sertes 5, & 11, 14 . 153207
FALY TNAasl MY 1 NS4 FON TN AT £ A1
() 1USI (L) 1Ol RSy BavsITi] L) 0in

Direction ((3.30 to 30) In each of the following questions various terms of an alphabet series
are given wilh one or more lerms missing as shown by (7). Choose the missing lerms oul of the

given alternatives.

A G L PS?
(A)U (B)W ()X MY

A B.N C.D O.EFETPDL???
(A)G.H.I (B)G.H.J (O)GHQ (D)K. L

0 EEELEIRNL T 022
(A)O,P (B)P.Q (C)R.R D)S. R

GH, JL, NQ, SW, YD, ?
(A)EI (B)FJ OEL (D)FL

PMT. 00S. NQR. MSQ. ?
(A)LUD (B)LVP (C)LVR (D) LWPD

EJO, TYD, INS, XCH,Y?
(A) NRW (B)MRW (C)MSX (D)NXS

ATTRIBUTION. TTRIBUTIO. RIBUTIO. IBUTL °?
(A)IBU B)UT (C)UTL (D) BUT
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Direction (.37 to 39) : In each of the following questions a letter number series is given with
onc or more terms missing as shown by (7). Choosc the missing terms out of the given

alternatives.

C4X. P9U. IleR. ?
(A) K25P (B T.25P (C)1.250 (MT.27P

2A101, 4D13, 12G17, 7
(A) 30119 (B)30l21 (C)48J21 (D)4

8123
Z,7.25 Y. B 23, X C W19 7 E 17
(A)A, 21. D,V (DA, 27, C, V (O)X. 21, C. W (D)X, 27 /W

Direction (.40 to 50) : In each of the following letter series, some letters are missing which
are given in that order as one of the alternatives below it. Choose the correct alternative.

ab baa  ab
(A) aanaa (B) aabaa (C) aabab (D) baabb
aba cabc  dcha baba
(A) ahden (B) bcade (€) abedd (17) chdan
__bedbe deabd ~ bedbe _ debd
(A) aaaaa (B).cccee (C) bbbbb (D) ddddd

b ac cc cb ab ae
(A)chaba (B)bbaac (C) abbbe (1) aabba

abc d bRNNM b cda
(A)bacde (B) cdabe (C) dacab (D) decdb

b cacca ba bbc bc a
(A)baabe (B)abaaa (C) acbea (D) bacab
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a ¢ abb a bc bc ab
(A) cbcaaa (B) beecab (C) becaac (D) acbabce

a bc ¢ abb bea
(A) cccbe (B) cbbac (C) accba (D) abbba

¢ — bba — cab — ac —ab — ac
(A) abcbe (B) babcc (C) bcacb (D) acbcb

R—8-—T-—K8K-—~REK-—KTL
(A)RKRTS (B) KKRTS (C)KKTRS (DYKRSTU

A—CGEG—IM —0O— T —dA
(A)BHNYS (B) BHNSY (C) HNSYS (D) BHINS

Direction (().51 to 52) : In cach of the following questions, thrée sequence of letters/numerals
are given which correspond to each otherin some way. In each question, you have to find out
the letters/numerals that come in the vacant places marked by (7). These are given as one of
the four alternatives under the question.

C B__D_BABCCESE
1 24 3 1?27 %
a __ab _ ¢ b
(A)3.4.4.3 (B)3.2.2.3 {33 L L 3 (D) 1.4.4.1

(A)a.b. a. b (Bla, c,a.c (e, b,c, b (Diye,d. c.d
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